ate the sahent points

390 KN is supported by a short column of 250mm x 250mm
tion. The column is reinforced with 8 steel bars of cro
are:a 2500mm?’. Find the stresses in steel and concrete if Es= ISEc

m_md in m'dcr that column may suppﬂrt a load of' 480 kN.

A bar of 20mm diameter is tested in tension. It is observed that when a load
of 37.7 kN is applied, the extension measured over a gauge length of
200mm is 0.12mm and contraction in diameter is 0.0036mm. Find the
| [Poisson’s ratio, Youngs modulus, Bulk modulus and Moduls of rigidity.

OR
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';- Write a note on temperature stresses with sketches % 5 | L25Ee
blA circular bar of uniform cross sectional area of 1000 mm? is subjected tog 10 | L3 | COl
| fforces as shown in figure. If Youngs modulus for the material is 200 GPa,
- | | determine the total deformation '
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C|A steel bar of 20mm diameter is subjected to tension test in lab. Determine, 10 | L3 | (Ee
- stress, strain, Young’s Modulus, percentage elongation from the following '
Gauge length= 200 mm, extension at a load of 100kN is 0.147mm,
tal elongation =50mm. Also determine the percentage decrease in cross
tional area of the specimen, if the diameter of the rod at failure is 16mm.
' PARTB
h fine SF, BM, Point of Contra-flexure 5 | L2 | G
w SFD and BMD for a camllevgr beam subjected to loads as shown. 100 |'L3 | GRS
@il . Sﬂ-k "'fllrm [t o N
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c¢[Draw SFD & BMD for the overhanging beam shown 10
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